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LRAY

A0 530 540 550 560 H7 Hi 7 He7 42
£ 9,008 | 90921 | 11,194 12105 12557 | 12,776 | 12,627 | 11,758
e 477 517 534 568 5ED 563 541 477
=it 1,181 1,151| 1,162 | 1,221| 1232| 1,207| 1,184| 1,073
LEE Pz 305 790 R0 o4 | 1,002 | 1,010| 1,003 930
& & 1,542 | 2,002 | 2,704 | 3,027| 3258 | 3,447 | 3,465 | 3,346
It FE 274 276 291 309 313 311 300 260
i oo | 1,083 | 1,273| 1,381| 1455| 1502| 1,473| 1,366
g2 1,281 1578 | 1,883 | 2,008| 2,083| 2089| 2,065| 1916
hE 699 BET 737 s 7T 763 740 664
P & 425 398 404 423 418 409 395 351
LM 1,294 | 1,237 | 1,242 | 1,328| 1,342| 1,336 | 1,320| 1,224
bR 30 o3 104 118 127 136 141 143 |
ERL 530 540 S50 560 HZ Hi 7 HZ7 HiZ_|
£ 100.0%] 100.0%] 100.0%] 100.0%] 1oo.0w] 100.0%] 1oc.o%]  100.0%
L@ 5. 3% 5.2% 4.8% 4.7% 4.5% 4.4% 4.3% 4.1%
=ik 13.1%  11.6%)  10.4%  10.1% 9.6% 9.4% 9.4% 9.1%
LEE Pz 5. 9% 8.0% T.T% 7.58% 8.0% 7.9% 7. 9% 7.9%
& & 17.1%  2n.2%|  zazw|  zeow| 25w 2row| 274w 2.5
It FE 3.0% 2.8% 2.6% 2.6% 2.5% 2.4% 2. 4% 2.3%
=iE 10.5%  10.0%  114%| 14w 1% 11.8% 117 1Le%
g o 14.2%  15.9%|  16.8%  16.6%|  16.4%|  16.4%  16.4%|  16.3%
hE 7.5% 6.9% B.6% 6. 4% 6.2% £.0% 5.5% 5. 6%
P & 4.7% 4.0% 3.6% 3.5% 3.3% 3.2% 3.1% 3.0%
LM 14.4%  1z.8%| 111w 10w 10.7%|  10.85% 105 10.4%
ik, 0.9% 0.9% 0.9% 1.0% 1.0% 1.1% 1. 1% 1.2%
(FA
SO | WeIE T3
EXE 127757
LiEE g62.7 4.4%| H17
FER 05 6 £ 76 BRRE
EER BEO0 +4%] | %R
B R B04.0 104
Fov -5 B37E 2004
J450F B2 6 }:‘@ﬁ&é‘l‘
AT — 4552




ChA)

A0 H7 Hi 2 H17 Hz7 Hiz  |Hd2/H1 7
| R ) h69.2 BaE.3 hE2.T a40.5 4768 54.T%
pl= 336.9 341.3 J43.4 338.0 3114 a0.7%
|5?5 FLIR 2223 2308 236.5 2427 233.7 95.8%
HE 108.1 105.9 102.5 a5.1 T9.0 TT.1%
2% w4 263 258 2a8.0 258 3.2 509.1%
5% S 24.3 23.5 22.3 20.0 15.5 A9.5%
AL 1.1 A9.4 ABT.3 1.9 A1.1 Ta.0%
|‘5?5 HEl 41.1 41.1 40.8 388 KA 52.3%
1=NE) 53.2 51.T 49.5 44 .5 /.3 T1.1%
|5?’5 EELE) T3 36.T 35.8 J2.4 25.1 T2.8%
)
T8 R L H7 Hi 2 Hi7 He7 Hiz  [Hde—H17
b8 100.0 100.0 100.0 100.0 100.0 -
H& ah .2 A0.1 f1.0 az2.7 A5 .3 4.3
|5?5 FLIR K= 40.8 42.0 44.9 48.0 7.0
HE 18.0 15.8 18.2 1T.6 16.8 -1.6
eEE- AN 4.4 4.5 4.6 4.8 4.9 (I
3% S 4.3 4.1 4.0 3.7 3.3 1.7
1= | 12.5 12.2 12.0 11.5 10.7 -1.2
|5?5 HEJ| T.2 T.2 7.2 T.2 T.0 —1.2
1= 1) 9.3 4.1 5.8 8.2 T4 -1.4
[5% @FE £.6 £.5 f.4 6.0 5.5 -0.9
2000 10%
H9 570
H10 H10-16
1.3 6.7
H17 H17

H15 H16 25
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H1l¢6 H4:Z2
EE O ET 0 EZ58 05T A0
= e = -
EXH| 10,68 13.0%  29.pM]  11.3%
kg B 0. 8% 13.0% 23, B¥ 10.1%
jH 19. 6% 12.60% e, a2 10.0%
ﬁﬁ 0. 0% 14.0% 34. B 10. 8%
&4k g4 _5Y 12.1% an. 1% 10.0%
JE e e 11.6% 6. % .7
FL0% 15 . 8% 18.7% a6, ok 10.0%
i I 18.3% 14.9% an. 7 11.6%
EI S 0.k 12.9% a1.7% 10.1%
A 1] 1.3% 1%. 6% 24. 9% 10.0%
EEE 23,18 11.8% al. &% §.Th
20 40
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